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Instructions: 1) All questions are compulsory.  2) Figures to the right indicate full marks.
Q. 1. Choose the correct answer from the given options. (05)

1. The Minimum Wage Act in India was passed in ....................

a) 1951 b) 1950
c) 1948 d) 1949
2. The formula for measuring labour productivity .........................
a) Worker hours/Output b) Number of workers/Output
¢) Output/Worker Hours d) None of the aboves
3. The majority of the worker in developing countries work in .................... Sector
a) private b) unorganized
¢) Government d) organized

4. Anincrease in the wage rate leads to unemployment.

a) False b) True
5. One of the ways to improve productivity of labour is to provide social security.
a) True b) False
Q. 2. Answer any three of the following questions in 100 words. (15)

1) Characteristics of labour

2) Concept of wage

3) Importance of labour productivity
4) Effects of labour mobility

5) Measures to reduce discrimination

Q. 3. Answer any one of the following question in 250 words. (10)
1) Discuss the factors of determining demand for labour .

2) Explain the advantages of rationalization.

Q. 4. Answer any two of the following question in 500 words. (30)

1) What do you mean by labour market? Explain the characteristics of labour market
in developed and developing countries.

2) Discuss the disadvantages of rationalization in detail.

3) Define discrimination? Explain in detail types of discrimination.
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ot : 2) 9d u9 wefan . R) SSEREie 31 W WA U gHifeaTd.

W L. Gl feiedn IR w@iEs g @i FEet. (o%)
. HRAId fRATT ade PIICT .o HEY HT STell.
) 9899 ) 9R4e
h) 2% ) 988
R HHA IcUTEhAT AU T e
) FHHIR drE/ 3G o) FHIRET FE&IT Icdeed
%) 3MITYE/HTHIR AT ) aiieTdehr FIERT ATer
3. fOordeTefier QRITer TEHE T PR e . 8T HH FIATT
) @rerft o) 3raafed
F) AR 3) mafad
¥. HSredT eXclel ardiee SIS 8.
) W ) g
4. HATN ScTeshal GURUATHT Ush HNET FgUTSl ATATO FI&TT Tt o,
) W ) g
TR, Gl R fF SREE W 200 wega fora. (k%)
¢) AT dfrsey
) AT HehedeT
3) HH IcUIGhdd Hgecd
%) A FATARMIAT JHTT
W) ASHTT FHHT FUATHTS! AT

T. 3. Gl SHIUCETE TR SRA ST Yo Iegd forgl. (20)
%) AR AETON SARAT Teshidl Tl .
R) TRRYEIHIOT Brhe TISC .

Y. ¥. el el G I3 SW Yoo Yeg feorat. (20)

?) #fAd TR Fgurat T+ AR 3o famderiier SenmAtier AR SR
3fersey FqsT .
R) RGO clie duefielar =il .

3) AGHTATH SITEIT FT? AGHTATT JhR dueficldr iem.
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